Examination Practice Paper 4 (Pearson IGCSE 9-1) Answers
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Make y the subject.
L xBy-1=2,3y-x=2

2
By=1)

Use proper notation for inverse function.
x42

x+2

ay=x+2, 9w

12 RHS reguiar polygon, exterior angle ¢
=3 for an n-sided regular polygon.
- g6°=24°

LHS roqulrpolygon, ¢
oo 360 360
242380 2 30 _ 45 5iges
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13 Sumofparts=4+5+6
150cm = 15 parts
1 part = 10cm, s triangle sides are 40cm, 50cm
and 60cm.

40om oem

50cm
Let angle between 40 and 50 sides be A:
cosine rule: a? = b? + ¢ - 2becos A

402 +50°-60° , o
cost = 0800 1 gp 1o
e fiarlo = .40 0 x sz 519

area of trianglo = JabsinC

= 992.156...cm? = 992¢m? (3 5.





image9.png
arclength = .0 x 271

360

Perimeter, p= 0% 2 x 7x 4= 12.60m 1 dp)

aroa of triangle = J absinC; area of sector = 2% x mr*

Area=Lx8x8xsin60 - 18074t ~260m? (1 0p)
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Read off graph where curve cuts the x-axis.
w14
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Read off x-axis where curve cuts y = 2x
x=25
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16 a frequency density = frequency + class width
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17 a Consider a right-angled triangle with hypotenuse
AB=4+x
Pythagoras' theorem
W47 =67 4 (6~ xF
X2+ 8r+16=25-10x + 2%+ 36 - 12r + x*
0 = x? - 30x + 45, as required.
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b Use the quadratic formula
a=1,b=-30,c=45
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16 8 0=8 20004~ wnen sstonary
:
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= 12 red beads

a Let length of diagonal of square base be y
Pythagoras’ theorem
yr=xtex=ox

2
Consider right-angled triangle of height / and base -Lx
and hypotenuse x.

e e L] %
b Let angle between an edge and the base be 0.
. opposite side
adjacent side
x
z

x

tang 1,0=45°

2
Let A be the area of the feld to be maximized.
Width of field = 150 - 2¢
A= x(150 - 2 = 150z - 212
a
G=100-dr=
Soling £ = 37.5,y = 75, A,,, = 28125

Maximum value as shape of A vs x graph is an inverted
parabola yielding a maximum point.

atturning point,
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22 volume of a sphere = §7r°; volume of cone = 3 7r%h

curved surface area of cone
where I* = % + h*
volume of sphere = volume of cone

dars = Larehsoar=h

3" g
Total surface area of cone, A
BortehEsrte 165170,

s0A =2+ ar/TTr = 1rdt + V77)

rl; slant height s [
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Bearings are measured clockwise from North.
Bearing of Q from P = 250°.
a i @r-4Gr+d=9"+120-12-16=0x"-16

il FOIL used to expand the brackets.
@y~ 47 = @x - 43x - 4= 92° - 121 - 12 + 16
o’ - 24r 4 16

20y - 1227y = 221 - 6237
3xty - 9x%y? + 152y = 3x%y(t - 3y + 537y

anxar=
ay xx%y®

i oamsan=amn
¥yt
iz
a 37000000000 =37 x 107

—xy

3° alternate segment theorem)
34° (AOBCs isosceles)
30 - 34° = 39°
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5

Increase by 2%: multiplying factor = 1.02
Big Bank: €1200 x (1.02)"= €1273.45

Increase by 3%: multplying factor= 1.03
Small Bank: €1273.45 x (1.03F = €1351.00
change
entage profit = x100
pereentage Proft= original
1351 - 1200
1200

Mx5=0)

: 2lxa=H)
t5r420y=25 3]
Br-20y=44 [4]
23r=69 13]+14]
x=3 1

M 9+4y=5y=-1=(@3,-1)

Percentage profit = x100= 12.6% 3 5.1)
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2
Set up the vector path equation first, and then substitute
in the vector elements.

Sl5t4a + bl - 32a + 5b]

= Ji14a - 10b1=7a - 5b
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9 a+(n-1)d foran A.P.
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d Lety =gl
Switch y and  for the inverse of g(x).





